
PACK P/M

1 Top Panel #1(1370x500x25mm) H275-24 R63051 Wood 1 K M

2 Leg Assembly #1(730x490x70mm) H275-24 R62754 Metal 1 B P

3 Stretcher #1(L=945mm) H275-24 R62755 Metal 1 B P

4 Rail #1 (L=1340mm) H275-24 R62756 Metal 1 B P

5 Leg Assembly #2(950x420x70mm) H275-24 R62757 Metal 1 B P

6 Divider(495x85x15mm) H275-24 R63052 Wood 1 F M

7 Stretcher #2(L=1020mm) H275-24 R62759 Metal 1 B P

8 Rail #2 (L=1020mm) H275-24 R62760 Metal 1 B P

9 Leg Assembly #3(620x420x70mm) H275-24 R62761 Metal 1 B P

10 Top Panel #2(1400x230x15mm) H275-24 R63053 Wood 1 K M

11 Rail #3 (L=1390mm) H275-24 R62763 Metal 1 B P

12 Front Panel(1340x138x15mm) H275-24 R63054 Wood 1 K M

13 Top Panel #3(1400x400x25mm) H275-24 R63055 Wood 1 K M

14 Right Side Panel(370x85x15mm) H275-24 R63056 Wood 1 K M

15 Bottom Panel(422x295x15mm) H275-24 R63057 Wood 1 K M

16 Leg Assembly #3(950x420x70mm) H275-24 R62768 Metal 1 B P

17 Drawer Right Side(355x70x12mm) H275-24 R63058 Wood 1 K M

18 Drawer Front(290x105x15mm) H275-24 R63059 Wood 1 K M

19 Drawer Back(242x70x12mm) H275-24 R63060 Wood 1 K M

20 Drawer Left Side(355x70x12mm) H275-24 R63061 Wood 1 K M

21 Drawer Bottom(245x335x3mm) H275-24 R63062 Wood 1 K M

22 Rail #4 (L=1390mm) H275-24 R62774 Metal 1 B P

23 Back Panel(295x110x15mm) H275-24 R63063 Wood 1 K M

24 Left Side Panel(370x85x15mm) H275-24 R63064 Wood 1 K M

25 Bracket (25x18x2mm) H275-24 R62777 Metal 6 G P

26 DRAWER GLIDE (M+F)(35MMX300MM)(OLD) H275-24 R39322 Metal 2 B P

26 Drawer Glide (M+F)(35mmWx290mmL)(B)(H) NEW H275-24 R72976 Metal 2 B P

27 Hardware Pack H275-24 R65863

6×36mm Cam Lock (13)

15x11mm Nut (13)

6×33mm Cam Lock (4)

15x9mm Nut (4)

8x35mm Screws (19)

8x25mm Screws (10)

6x12mm Screws (6) 

1/4in×15mm Allen Bolt (30)

1/4in Flat Washer (30)

1/4in Lock Washer 30)

4mm Allen Wrench (1)      

1 G P

REPLACEMENT PART DESCRIPTION FORM
MODEL #: H275-24

FACTORY USE ONLY!!

NOTE: Part #26 NEW effective starting serial#: 698867384696

November, 2019 Page 1 Of 2

USED ON: MRP# QTY.MATERIALPART#

SIGNATURE DESIGN BY ASHLEY®

DESCRIPTION

All Rights Reserved.



MODEL #: H275-24
REPLACEMENT PART DESCRIPTION FORM

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. November, 2019 Page 2 Of 2

18 21

20

19

17

27

1

2

3

4

9

6

5

16

15

14

7

11

8
12

13

10

22

23

24

25

26 
OLD

26 
NEW


